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s  =   ∑ x  y  (1+η ) ∏ (1+ε )ₙ ᵢ ᵢ ᵢ ⱼ
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======================================== 
       n            
s  =   ∑ x  y  (1+θ )    ₙ ᵢ ᵢ ᵢ
      i=1

==> |θ  | ≤ γᵢ ₙ
          ≤  1.01 n ū

|fl(y x) - y  x|  = |∑ x  y  θ  | ≤ ∑ |x |  |y  |θ  |ᵀ ᵀ ᵢ ᵢ ᵢ ᵢ ᵢ ᵢ

|fl(y x) - y  x| ≤  γ   ∑ |x | |y | ᵀ ᵀ ₙ ᵢ ᵢ

======================================

I-E nonsingular?

Assume it is singular..  there is a nonzero x s.t.

(I-E)x = 0   ==> x = Ex ==> x  = E x ==>‖ ‖ ‖ ‖

 E x / x  = 1    ==>  E ≥ 1    contrad.‖ ‖ ‖ ‖ ‖ ‖

============

(I-E)(I+E+E²+E³) = (I+E+E²+E³) -E (I+E+E²+E³)
 (I-E)(I+E+E²+E³) + E  = I ⁴

 (I-E) ¹ = I + E + .. E  -  (I-E) ¹ E⁻ ⁴ ⁻ ⁴

|| (I-E) ¹ E  || ≤ .... || E ||  –>-⁻ ᵏ ᵏ
===========

I-E ==> A+E = A(I+ A ¹ E)  ⁻
If    A ¹ E  < 1 then (I+ A ¹ E)  is invertible‖ ⁻ ‖ ⁻

(A+E) ¹  = (I+ A ¹ E) ¹ A ¹  ⁻ ⁻ ⁻ ⁻

-----------------------------------------------------------------------

(A+E) y = b + eb
    A x = b

(A + E)y - Ax = eb

(A + E)(y -x) + Ex = eb

|| Ax || ≤ ||A || || x||   ==> ||b || ≤ ||A || || x|| 


